PUP KAG TMHQ FTQ EMYQ
FTUZS RAD NDOMWRMEF
FTUE YADZUZS?



PUP KAG TMHQ FTQ EMYOQ
FTUZS RAD NDQMWRMEF
FTUE YADZUZS?

What assumptions can you make about
this message?



Using codes

What assumptions can you make about this
message?

what language is it in?

why are there gaps?

how many words are there?

why are the words on 3 lines?

what does the symbol at the end mean?
is it using a substitution cipher?



PUP KAG TMHQ FTQ EMYOQ
FTUZS RAD NDQOMWRMEF
FTUE YADZUZS?

Can you start to Fill in any letters?

Or make guesses?
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